
TS-semantics of a program graph ts-program-graph-sem-ohne-overlay

Let P = (Loc , Act, Effect, →֒, Loc0, g0)P = (Loc , Act, Effect, →֒, Loc0, g0)P = (Loc, Act, Effect, →֒, Loc0, g0) be a PG.

transition system TP = (S , Act,−→, S0, AP, L)TP = (S , Act,−→, S0, AP, L)TP = (S , Act,−→, S0, AP, L)

• state space: S = Loc × Eval(Var)S = Loc × Eval(Var)S = Loc × Eval(Var)

• initial states: S0 =
{

〈ℓ, η〉 : ℓ ∈ Loc0, η |= g0

}

S0 =
{

〈ℓ, η〉 : ℓ ∈ Loc0, η |= g0

}

S0 =
{

〈ℓ, η〉 : ℓ ∈ Loc0, η |= g0

}

• −→−→−→ is given by the following rule:

ℓ
g :α

→֒ ℓ′ ∧ η |= g

〈ℓ, η〉
α

−→ 〈ℓ′, Effect(η, α)〉

ℓ
g :α

→֒ ℓ′ ∧ η |= g

〈ℓ, η〉
α

−→ 〈ℓ′, Effect(η, α)〉

ℓ
g :α

→֒ ℓ′ ∧ η |= g

〈ℓ, η〉
α

−→ 〈ℓ′, Effect(η, α)〉

• atomic propositions: AP = Loc ∪ Cond(Var)AP = Loc ∪ Cond(Var)AP = Loc ∪ Cond(Var)

• labeling function:

L(〈ℓ, η〉) = {ℓ} ∪
{

g ∈ Cond(Var) : η |= g
}

L(〈ℓ, η〉) = {ℓ} ∪
{

g ∈ Cond(Var) : η |= g
}

L(〈ℓ, η〉) = {ℓ} ∪
{

g ∈ Cond(Var) : η |= g
}
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